
1789 8
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1805 1807

10 1809

1810

1811 2

1 2 1 7 18

1812 1

1 2 1 26 35
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1813 3

1814 1815

1814

1815

1815 7 11

12

1816 3

1 2 1 1 1



9

1821 1823

1826 1829

1823

1824

1830

1826

1830 7

1831 10

1833 7



1838 10

18

1836

589

1839 9

1839 7

11

1843 5

1848 2 1849 3



1850 6

1851 12

1853

1848 1853

1857 5 12 21



· · · · · ·

2 263 265

· · · · · ·
· · · · · ·

∞
−∞

x→∞
(f(x+ a)− f(x)) = k

x→∞

f(x)

x
= k

ǫ



ǫ δ

f(x)

x x

f(x+ a)− f(x) a · · · · · ·

1817



· · · · · · y′ f ′(x)

ǫ δ ǫ, δ

f(X)− f(x0)

F (X)− F (x0)
=
f ′(x0 + θ(X − x0))

F ′(x0 + θ(X − x0))

f(x)

α h

f(x+ αh)− f(x)

α
=
f(x+ i)− f(x)

i
h (i = αh)

f ′(x0) = · · · = f (n−1)(x0) = 0

f (n)(x0)

f(x) [x0, X0]

x1 x2 · · · xn−1 n

S = (x1 − x0)f(x0) + (x2 − x1)f(x1)

+ · · ·+ (X − xn−1)f(xn−1)



n S

S f(x)

x x0 X0

∑

un
∑

2nu2n
∞
∑

n=0
un

∞
∑

n=0
vn

∞
∑

n=0
(
∞
∑

k=0

ukvn−k)

un = vn =
(−1)n+1
√
n



1892 f(x) = e−1/x
2

1 2 2 276 282

1826

ǫ δ

f(x, y) (x0, y0)



∑

∞

n=0 anz
n R

z R 1
R

n an n

n→∞

n

√

|an|

1847

i2 + 1

i 1 1 10

1 1 11

1814 1827

· · · · · ·



1752

1776 1841

1825

A+ iB =
∫ c+id

a+ib
f(z)dz

x = φ(t) y = ψ(t) (a ≤ t ≤ β)
∫ β

α
[φ′(t) + iψ′(t)]f [φ(t) + iψ(t)]dt

f(x+ iy) x a c y b d

· · · · · ·
A+ iB x = φ(t) y = ψ(t)

m

1811

1831

f(z) =
1

2π

∫ π

−π

Reiθf(Reiθ)

Reiθ − z
dθ

1 2 12

60 61

1826



1 2 15

· · · · · ·

· · ·
m x1

1

(m− 1)!

dm−1(ǫmf(x1 + ǫ))

dǫm−1
|ǫ=0

∫

f(z)dz = 2πiEf(z)

E f(z)

2πi

1 2 6 124 145

1843

1855

1

2πi

∫

Z ′

Z
dz = N − P

Z(z) S S

N P Z(z) S 1 1 12

285 292

1

1 12

1834 1837

1865



1868

1859

1788



1811

1815

1820

1821

1827

1822 1830

S S

S

P P



σxx σxy σxz(σyx σyy σyz σzx σzy σzz) P

yz zx xy) x y z

P νx νy νz σν

σνx = νxσxx + νyσyx + νzσzx

σνy = νxσxy + νyσyy + νzσzy

σνz = νxσxz + νyσyz + νzσzz

σxy = σyx σyz = σzy σxz =

σzx 9 σxx · · · σzz 6

9 σν

σνn = σxxν
2
x + σyyν

2
y + σzzν

2
z + 2σxyνxνy

+2σyzνyνz + 2σzxνzνx

P σνn

3

6 ǫxx ǫyy ǫzz ǫxy ǫyz ǫzx

ξ η ρ x y z

ǫxx =
∂ξ

∂x
ǫyy =

∂η

∂y
ǫzz =

∂ρ

∂z



ǫxy =
1

2

(

∂ξ

∂y
+
∂η

∂y

)

ǫyz =
1

2

(

∂η

∂z
+
∂ζ

∂y

)

ǫzx =
1

2

(

∂ζ

∂x
+
∂ξ

∂z

)

ǫ σ σ ǫ

ǫ σ

34 = 81 81 36

1 2 9 342 372

1828

(λ+ µ)
∂ν

∂x
+ µ

(

∂2ξ

∂x2
+
∂2ξ

∂y2
+
∂2ξ

∂z2

)

= ρ
∂2ξ

∂t2

(λ+ µ)
∂ν

∂y
+ µ

(

∂2η

∂x2
+
∂2η

∂y2
+
∂2η

∂z2

)

= ρ
∂2η

∂t2

(λ+ µ)
∂ν

∂z
+ µ

(

∂2ζ

∂x2
+
∂2ζ

∂y2
+
∂2ζ

∂z2

)

= ρ
∂2ζ

∂t2

ν =
∂ξ
∂x

+
∂η
∂y

+
∂ζ
∂z

λ µ

ρ



800

65

35 1882

27 12

1882 1911

15 1 2 3

4 5 6 14 51

5 8

48 15 1974

1824



y′ = f(x, y) y(x0) = y0 f

x0

f(x, y) (x0, y0)

y′ = f(x, y) y′ = F (x, y)

F

f(x, y) =
∑

ckj(x− x0)
k(y − y0)

j

F (x, y) =
∑

Ckj(x− x0)
k(y − y0)

j

k j |ckj| ≤ Ckj y′ = F (x, y) x0

y′ = f(x, y)

1 1 2 6 7

F du
dt

= 0 F

u =
1

2πi

∫

c

φ(s)est

F (s)
ds

C F φ

1 1 4 370



dx
dt

= Ax

x n A n S(s) = (A−sI)
I x(0) = α

1 1 5 6

1819

dxi

dt
= Zi(x1, · · · , xn), i = 1 · · · n

etZ Z =
n
∑

i=1

Zi(x1, · · · , xn) ∂
∂xi

1 2 9 399 465

1815

1807 1811

1824 1826

δ

1821

F

(

∂

∂x1
, · · · , ∂

∂xn
,
∂

∂t

)

u = 0

F n+1 F (ω1, · · · , ωn, s) =

0 ω1 · · · ωn, s

(

n
∑

k=1

ωkxk + st

)



∂ku

∂tk

∣

∣

∣

∣

t=0

= 0 (k = 0 1 · · · , n− 2)

∂n−1u

∂tn−1

∣

∣

∣

∣

t=0

= ν(x1, · · · , xn)

1 2 1 2

1842






∂uk

∂t
= Fk

(

t, x1, · · · , xn; u1, · · · , um,
∂u1

∂xn
· · · , ∂um

∂xn

)

uk(0, x1, · · · , xn) = ωk(x1, · · · , xn)

k = 1 2 · · · m Fk

∂uk
∂xj

ωk

1 1 6 461 470

1875

1812

n 2

n p

P Q

R Q = P−1RP

n n!

n > 4 n



Sn H Sn 2

n p p

1845 1846 1 1 9 10

13

1812 n a1 · · · an

a1a2 · · · an(a2 − a1)(a3 − a1) · · · (an − a1) · · · (an −
a2) · · · (an − an−1)

asr ar·s

S(±a1·1a2·2 · · · an·n)
n2

a1·1 a1·2 · · · a1·n

a2·1 a2·2 · · · a2·n

· · · · · ·
an·1 an·2 · · · an·n

n2 n

S(± dx
da

dy
db

dz
dc

) = 1



1813 m m

m 0 1 1 2 6 320 353 1840

p 4l + 3 A p B

p 0
p
2

p = 8l + 3

8l + 7

A− B

2
≡ −3B(p+1)/4 B(p+1)/4 ( p)

B 1 1 3 172 n

4l + 3 A B n n
2

A− B =

(

2− 2

n

) ∑

b−
∑

a

n
=

(

2− 2

n

) ∑

b2 −
∑

a2

n2

a b 0 n ( a
n
) = 1, ( b

n
) = −1 n = 4l + 1

n = 4l + 3

h(−n) =
(

2− 2

n

) ∑

b2 −
∑

a2

n2

h(−n)
1 1 3 388

x− x0

a

y − y0

b

z − z0

c

±
√

(x− x0)2 + (y − y0)2 + (z − z0)2



1 2 5 8

x y z

d2x
ds2

d2y
ds2

d2z
ds2

1

ρ
=

√

(

d2x

ds2

)2

+

(

d2y

ds2

)2

+

(

d2z

ds2

)2
1

τ
=
dΩ

ds

Ω

1847 1850

u(x, y, z) = 0

(x, y, z)

(ξ − x)
∂u

∂x
+ (η − y)

∂u

∂y
+ (ρ− z)

∂u

∂z
= 0

n (xk, yk) (k = 1 2

· · · n) y = ax+ b

z = ax+ by + c 1 2 1

2 u = ax+by+cz+ · · ·



ωk = uk−axk− byk− czk−· · · f

f

φ(ξ) = eαξ
N

α N

N = 1

f(ξ) =
γ

π

1

1 + γ2ξ2

1 1 2 5 17

e 7 e n

1 1 5 2 3

3

1 1 2 4 5 2 2



1845

1 1 5

1808

1801

1830 1835

· · · · · · 1 2 10 189

190

1852 5



1816

1824

1839

1842

1850

1816





1820 6

1812

· · · · · ·

1826 10 30

1829 6 29

1841

1829 6

6 1

[1]
1882 1974

[2] 1
1821 2 3

3

[3]
1823

2 4 1 261



[4]
1826 1828 2 5

[5] 1829
2 4 263 609

[6]
1 1 5

318

[7]
1 1 319 506

[8]
2 15 41 89

[9]

2 8 195 226

[10]
2 8 251 277

[11]
1981

[12] 2 1 64
169

[13]
2 8 171 282

[14]
11 1985 125 136

[15]
1984

[16]
1896 205 215

[17] 2
1909 101 120

[18]
1986



[19]

23 1980 279 319

[20]
1956

1981

[21]
3 1971 131 148

[22]
1981

[23]
6 1970

372 400

[24]
1970

[25] 1800
1840

3 1990

[26]
1957

[27]
1905

[28]
22 1899 1 18
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